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Aufgaben-Quickname: 5867

Aufgabe 1
Quick:
5867

Nur zwei Figuren sind punktsymmetrisch. Welche?

a)

Ja!
Nein! Nein!

Nein!

Ja!

b)

Ja!

Nein!

Nein!

Nein!

Ja!
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c)

Ja!
Nein!

Ja!
Nein!

Nein!

Aufgabe 2
Quick:
5867

Nur zwei Figuren sind punktsymmetrisch. Welche?

a)

Ja!

Nein!
Nein!

Ja!

b)

Ja!

Nein!

Nein!
Ja!
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c)

Ja!
Nein! Nein! Ja!

Aufgabe 3
Quick:
5867

Welche dieser Figuren sind punktsymmetrisch?

a)

Nein!
Ja! Nein!

Nein!
Nein!

b)

Ja!
Ja!

Ja!

Nein! Ja!

c)

Ja!
Nein!

Nein!
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Ja!
Ja!

Viel Erfolg!
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